MNVcCULLOCH.

PARTNER
LLUSTRATED PARTS LIST

ELITE 3900 PRO
ELITE 4000 - 4100 - 4100 PRO
ELITE 4600 - 4700 - 4700 PRO
PARTNER B400 - B470 - B460
PARTNER B3100 - B4100 PR0 - B4700 PRO

SERIAL NUMBER PREFIX 01-02

000000000


http://www.barrettsmallengine.com

FIGURE 1

C 1 FIGURE 3 21 235804 m5x3 2 241267 46cc 1 C 57 241432 1
2 247936 1 €22 241541 1 C41 e23574238-40cc 1 58 227236 1
3 235900 1 B 23 229809 1 C 227329 46cc 1 59 e227274msx60 2
4 235899 1 B 24 229743 1 C 42 227631 1 60 227565msx2s 4
C 5 228872 1 C 25 235675 1 43 241223 1 A 61 92879 1
6 247935 1 A 26 240452 1 44 235218 1 62 241187 powgaiansip
7 235899 1 B 27 236563 1 C 45 241283 s shvar 1 R 1
8 235900 1 A28 236564 1 C 241834 goidioroiarigold 1 241430 wosgalsianeget
C 9 228872 1 B 29 241213 1 B46 227194 1 it
10 235806 M5x20 4 30 235808 m5x50 1 A 47 @ @ 227703 1 241829 yit i 1
11 228139 1 31 241477 o e 1 48 240884 1 2419871 wowiys e 1
12 241279 1 241589 golgioroiongold 1 49 e 227467 1 63 24141638-40cc 2
B 13 247937 1 32 @227924 2 B 50 227300 1 64 236322 1
14 241269 2 33 241211 1 B 51 240492 1 65 241241 1
C15 241270 1 G 34 FIGURE 5 B 52 227470 1 66 240688 M5x14 2
16 236956 2 A 35 241281 1 53 240485 1 67 235218 1
17 241240 1 36 235806 msx20 2 54 241248 4 68 94273 46cc 1
18 235806 msx20 2 C 38 241481 1 55 236527 Mex16 4
C19 241298 1 C 39 241428 1 C 56 24128038-40cc 1
20 235808 msx50 2 40 24126638-40cc 1 C 241414 a6cc 1

A = high moving - alta rotazicne - haute demande - groBe Nachfrage B = medium moving - media rotazione - moyenne demande - mittelméBige Nachfrage C = slow moving - bassa rotazione - basse demande - wenige Nachfrage



A 1 240809 1 24 @ 224497-01 1 45 240942 dregiaret 1 63 241406 1 86 e 241297 1
A 2 240806 1 25 235802 Msxid 2 241742 wioioigeld 1 64 e 240833 5 89 ® 240043 1
3 e 240807 1 26 240830 1 46 240941 seigaioaneget 1 65 @ 241293 1 90 e 240041 1
A 4 229834 1 27 229829 4 241742 yisiroloigad 1 66 ® 229820 1 91 e 240617 9
A 2 338233 ; 28 236999 1 jg 240966 1 67 e 241295 1 92 @ 240618 4
M5x14 29 ® 236808 241003 1 1 .

B 7 240767 1 30 e 236809 1 49 241004 1 ?? : 32?831 1 32 . 328833 1

A 8 FIGURE4 31 e 236642 4 50 241002 6
72 @ 241292 1 | c95 241440 1

9 240824 1 32 e 236936 4 51 235216 2
C73 e 241410 1 | C 96ee 241441 1
12 @ 240151 wsxto 1 34 240682 2 53 240968 11 ¢ 750 536394 1 99 2a0935 >

A13 229842 mioxe 1 35 235011 mextz 2 54 207563 Msxis 2 22°° So0mat N

. 00 235530 msx35 2

A1d 236596 1 36 236642 2 55 240971 1
78 229832 1| 101 220208 2

15 236529 3 37 246864 1 56 240970 2
16 235804 msxa0 2 38 229849 2 57 241971 1 79 240017 1] 102 236527 mexie 4
17 236381 msa0 1 39 236602 1 57A 241972 1 80 e235921wmea0 2 | 103 24090538cc 1
B18 247209 1 40 235911 wmexi2 1 58 229985 1 81 ®236558mexa0 4 [ G105 e 236378 1
19 ® 235806 M5x20 2 41 236642 1 59 229934 1 82 235912 6 | C109 e 227284 1
20 e 235248 4 42 240969 4 60 240833 2 83 241439 1| A1 240936 1
21 240870 1 43 227563 Msxi6 4 61 235804 msxs0 2 84 e 240042 1| 113 241155 1
23 ® 236732 4 44 235216 4 62 235216 2 85 e 235932 1| 114 236383 5

A = high moving - alta rotazione - haute demande - groBe Nachfrage B = medium moving - media rotazione - moyenne demande - mittelmaBige Nachfrage C = slow moving - bassa rotazione - basse demande - wenige Nachfrage



38 cc ox e
C 1 247700 1
B 2 227286 1
C 3 247256 1 ),

4 06235008 2
B 5 ee240005 2

\@
40 cc y
|

C 1 247699 1 ‘
B2 w2186 1 || 3s—{]
C 3 247257 1 —

4 e 235008 2 - —
B 5 ee240085 2
46 cc @
C 1 247934 1
B 2 241431 1 S—-——
C 3 247258 1 PanN

4 ee?229544 2 )
B 5 ee240353 2

by

-y

20
3

5e
6o

2408538
538248302 Partner
240850  mioxs
241154

247395B  wmcculioch
538248303 partner
240852

241153

McCulloch

WALBRO WYJ 183A (38-40 cc) WALBRO WYJ 208 (46 cc)
C - 241268  carbur. C - 241476  carbur.
B 1 247955 1 B 1 247955 1
A 2 ee 247956 1 A 2 o0 247956 1
C 3 225834 1 C 3 225834 1
C 4 247957 1 C 4 247957 1
C 5 247958 1 C 5 247958 1
C 6 247962 1 C 6 247962 1
C 7 e247961 1 C 7 247961 1
C 8 247959 @43, 1 C 8 247960 s 1

A = high moving - alta rotazione - haute demande - groBe Nachfrage
B = medium moving - media rotazione - moyenne demande - mittelmaBige Nachfrage
C = slow moving - bassa rotazione - basse demande - wenige Nachfrage

McCulloch Parts



http://www.barrettsmallengine.com/mcculloch/parts.html

